

AN EXTENSION OF THE WHITTAKER FUNCTION

JUNESANG CHOI, KOTTAKKARAN SOOPPY NISAR, AND GAUHAR RAHMAN

ABSTRACT. The Whittaker function and its diverse extensions have been actively investigated. Here we aim to introduce an extension of the Whittaker function by using the known extended confluent hypergeometric function $\Phi_{p,v}$ and investigate some of its formulas such as integral representations, a transformation formula, Mellin transform, and a differential formula. Some special cases of our results are also considered.

1. Introduction and preliminaries

We begin by recalling the classical beta function (see, e.g., [9, p. 8])

$$(1.1) \quad B(\mu, \nu) = \begin{cases} \int_0^1 t^{\mu-1}(1-t)^{\nu-1} dt & (\min\{\Re(\mu), \Re(\nu)\} > 0) \\ \frac{\Gamma(\mu)\Gamma(\nu)}{\Gamma(\mu+\nu)} & (\mu, \nu \in \mathbb{C} \setminus \mathbb{Z}_0^-). \end{cases}$$

Here and elsewhere, let \mathbb{N} , \mathbb{Z}_0^- , \mathbb{R}^+ , \mathbb{R} , and \mathbb{C} , be the sets of positive integers, non-positive integers, positive real numbers, real numbers, and complex numbers, respectively. Also put $\mathbb{R}_0^+ := \mathbb{R}^+ \cup \{0\}$ and $\mathbb{N}_0 := \mathbb{N} \cup \{0\}$.

The Gauss hypergeometric function ${}_2F_1$ and the confluent hypergeometric function ${}_1\Phi_1$ are defined by (see, e.g., [8]; see also [9, Section 1.5])

$$(1.2) \quad {}_2F_1(\sigma_1, \sigma_2; \sigma_3; z) = \sum_{n=0}^{\infty} \frac{(\sigma_1)_n (\sigma_2)_n}{(\sigma_3)_n} \frac{z^n}{n!}$$

$$\left(\sigma_1, \sigma_2 \in \mathbb{C}, \sigma_3 \in \mathbb{C} \setminus \mathbb{Z}_0^-; |z| < 1 \right)$$

Received August 19, 2020; Accepted October 28, 2020.

2010 *Mathematics Subject Classification*. Primary 33B20, 33C20; Secondary 33B15, 33C05.

Key words and phrases. Beta function, extended beta function, confluent hypergeometric function, extended confluent hypergeometric function, hypergeometric function, extended hypergeometric function, Whittaker function, extended Whittaker function, Mellin transform.

and

$$(1.3) \quad {}_1F_1(\sigma_2; \sigma_3; z) = \Phi(\sigma_2; \sigma_3; z) = \sum_{n=0}^{\infty} \frac{(\sigma_2)_n z^n}{(\sigma_3)_n n!}$$

$$(\sigma_2 \in \mathbb{C}, \sigma_3 \in \mathbb{C} \setminus \mathbb{Z}_0^-; z \in \mathbb{C}),$$

where $(\lambda)_n$ denotes the Pochhammer symbol (see, e.g., [9, Section 1.1]). The well known integral representations of the hypergeometric function and the confluent hypergeometric functions are recalled (see, e.g., [9, Section 1.5])

$$(1.4) \quad {}_2F_1(\sigma_1, \sigma_2; \sigma_3; z) = \frac{\Gamma(\sigma_3)}{\Gamma(\sigma_2)\Gamma(\sigma_3 - \sigma_2)} \int_0^1 t^{\sigma_2-1} (1-t)^{\sigma_3-\sigma_2-1} (1-zt)^{-\sigma_1} dt$$

$$(\Re(\sigma_3) > \Re(\sigma_2) > 0, |\arg(1-z)| < \pi)$$

and

$$(1.5) \quad \Phi(\sigma_2; \sigma_3; z) = \frac{\Gamma(\sigma_3)}{\Gamma(\sigma_2)\Gamma(\sigma_3 - \sigma_2)} \int_0^1 t^{\sigma_2-1} (1-t)^{\sigma_3-\sigma_2-1} e^{zt} dt$$

$$(\Re(\sigma_3) > \Re(\sigma_2) > 0)$$

In last several decades, various extensions of some well-known special functions have been investigated. For example, Chaudhary et al. [1] introduced the following extended beta function

$$(1.6) \quad B(\sigma_1, \sigma_2; p) = B_p(\sigma_1, \sigma_2) = \int_0^1 t^{\sigma_1-1} (1-t)^{\sigma_2-1} e^{-\frac{p}{t(1-t)}} dt$$

$$(\min\{\Re(p), \Re(\sigma_1), \Re(\sigma_2)\} > 0).$$

Obviously $B(\sigma_1, \sigma_2; 0) = B(\sigma_1, \sigma_2)$. Also, by using (1.6), Chaudhry et al. [2] introduced the extended hypergeometric function F_p and the confluent hypergeometric function Φ_p

$$(1.7) \quad F_p(\sigma_1, \sigma_2; \sigma_3; z) = \sum_{n=0}^{\infty} \frac{B_p(\sigma_2 + n, \sigma_3 - \sigma_2)}{B(\sigma_2, \sigma_3 - \sigma_2)} (\sigma_1)_n \frac{z^n}{n!}$$

$$(p \geq 0, |z| < 1, \Re(\sigma_3) > \Re(\sigma_2) > 0)$$

and

$$(1.8) \quad \Phi_p(\sigma_2; \sigma_3; z) = \sum_{n=0}^{\infty} \frac{B_p(\sigma_2 + n, \sigma_3 - \sigma_2)}{B(\sigma_2, \sigma_3 - \sigma_2)} \frac{z^n}{n!}$$

$$(p \geq 0, \Re(\sigma_3) > \Re(\sigma_2) > 0).$$

They [2] presented the following integral representations

$$(1.9) \quad F_p(\sigma_1, \sigma_2; \sigma_3; z) = \frac{1}{B(\sigma_2, \sigma_3 - \sigma_2)}$$

$$\times \int_0^1 t^{\sigma_2-1} (1-t)^{\sigma_3-\sigma_2-1} (1-zt)^{-\sigma_1} \exp\left(\frac{-p}{t(1-t)}\right) dt$$

$$\left(p \in \mathbb{R}_0^+, \Re(\sigma_3) > \Re(\sigma_2) > 0, |\arg(1 - z)| < \pi \right)$$

and

$$(1.10) \quad \begin{aligned} \Phi_p(\sigma_2; \sigma_3; z) &= \frac{1}{B(\sigma_2, \sigma_3 - \sigma_2)} \\ &\times \int_0^1 t^{\sigma_2-1} (1-t)^{\sigma_3-\sigma_2-1} \exp\left(zt - \frac{p}{t(1-t)}\right) dt \\ &\left(p \in \mathbb{R}_0^+, \Re(\sigma_3) > \Re(\sigma_2) > 0 \right). \end{aligned}$$

Clearly, (1.7)–(1.10) when $p = 0$ reduce to (1.2)–(1.5), respectively.

Choi et al. [3] have introduced and investigated the following extended beta function

$$(1.11) \quad \begin{aligned} B(\sigma_1, \sigma_2; p, q) &= B_{p,q}(\sigma_1, \sigma_2) = \int_0^1 t^{\sigma_1-1} (1-t)^{\sigma_2-1} e^{-\frac{p}{t} - \frac{q}{1-t}} dt \\ &\left(\min\{\Re(p), \Re(q)\} > 0, \min\{\Re(\sigma_1), \Re(\sigma_2)\} > 0 \right). \end{aligned}$$

Obviously, $B(\sigma_1, \sigma_2; p, p) = B(\sigma_1, \sigma_2; p)$ in (1.6) and $B(\sigma_1, \sigma_2; 0, 0) = B(\sigma_1, \sigma_2)$ in (1.1). They [3] have introduced the following extended (p, q) -hypergeometric function and extended (p, q) -confluent hypergeometric function defined, respectively, by

$$(1.12) \quad \begin{aligned} F_{p,q}(\sigma_1, \sigma_2; \sigma_3; z) &= \sum_{n=0}^{\infty} \frac{B_{p,q}(\sigma_2 + n, \sigma_3 - \sigma_2)}{B(\sigma_2, \sigma_3 - \sigma_2)} (\sigma_1)_n \frac{z^n}{n!} \\ &\left(p, q \in \mathbb{R}_0^+, \Re(\sigma_3) > \Re(\sigma_2) > 0 \right) \end{aligned}$$

and

$$(1.13) \quad \begin{aligned} \Phi_{p,q}(\sigma_2; \sigma_3; z) &= \sum_{n=0}^{\infty} \frac{B_{p,q}(\sigma_2 + n, \sigma_3 - \sigma_2)}{B(\sigma_2, \sigma_3 - \sigma_2)} \frac{z^n}{n!} \\ &\left(p, q \in \mathbb{R}_0^+, \Re(\sigma_3) > \Re(\sigma_2) > 0 \right). \end{aligned}$$

They [3] presented the following integral representations

$$(1.14) \quad \begin{aligned} F_{p,q}(\sigma_1, \sigma_2; \sigma_3; z) &= \frac{1}{B(\sigma_2, \sigma_3 - \sigma_2)} \\ &\times \int_0^1 t^{\sigma_2-1} (1-t)^{\sigma_3-\sigma_2-1} (1-zt)^{-\sigma_1} \exp\left(-\frac{p}{t} - \frac{q}{1-t}\right) dt \\ &\left(p, q \in \mathbb{R}_0^+, \Re(\sigma_3) > \Re(\sigma_2) > 0, |\arg(1 - z)| < \pi \right) \end{aligned}$$

and

$$(1.15) \quad \begin{aligned} \Phi_{p,q}(\sigma_2; \sigma_3; z) &= \frac{1}{B(\sigma_2, \sigma_3 - \sigma_2)} \\ &\times \int_0^1 t^{\sigma_2-1} (1-t)^{\sigma_3-\sigma_2-1} \exp\left(zt - \frac{p}{t} - \frac{q}{1-t}\right) dt \\ &\left(p, q \in \mathbb{R}_0^+, \Re(\sigma_3) > \Re(\sigma_2) > 0 \right). \end{aligned}$$

Parmar et al. [6, Eq. (1.13)] introduced the following extended beta function

$$(1.16) \quad B_v(\sigma_1, \sigma_2; p) = \sqrt{\frac{2p}{\pi}} \int_0^1 t^{\sigma_1 - \frac{3}{2}} (1-t)^{\sigma_2 - \frac{3}{2}} K_{v+\frac{1}{2}}\left(\frac{p}{t(1-t)}\right) dt$$

for $\Re(p) > 0$, where $K_v(\cdot)$ is the modified Bessel function of order v . By recalling the following identity (see, e.g., [5, Entry 10.39.2])

$$(1.17) \quad K_{\frac{1}{2}}(z) = \sqrt{\frac{\pi}{2z}} e^{-z},$$

it is obvious that $B_0(\sigma_1, \sigma_2; p) = B(\sigma_1, \sigma_2; p)$ in (1.6). They [6] defined the following extended hypergeometric function $F_{p,v}$ and extended confluent hypergeometric function $\Phi_{p,v}$

$$(1.18) \quad F_{p,v}(\sigma_1, \sigma_2; \sigma_3; z) = \sum_{n=0}^{\infty} (\sigma_1)_n \frac{B_v(\sigma_2 + n, \sigma_3 - \sigma_2; p) z^n}{B(\sigma_2, \sigma_3 - \sigma_2) n!}$$

$$(p, v \in \mathbb{R}_0^+, \Re(\sigma_3) > \Re(\sigma_2) > 0, |z| < 1)$$

and

$$(1.19) \quad \Phi_{p,v}(\sigma_2; \sigma_3; z) = \sum_{n=0}^{\infty} \frac{B_v(\sigma_2 + n, \sigma_3 - \sigma_2; p) z^n}{B(\sigma_2, \sigma_3 - \sigma_2) n!}$$

$$(p, v \in \mathbb{R}_0^+, \Re(\sigma_3) > \Re(\sigma_2) > 0)$$

and presented their integral representations

$$(1.20) \quad F_{p,v}(\sigma_1, \sigma_2; \sigma_3; z) = \sqrt{\frac{2p}{\pi}} \frac{1}{B(\sigma_2, \sigma_3 - \sigma_2)}$$

$$\times \int_0^1 t^{\sigma_2 - \frac{3}{2}} (1-t)^{\sigma_3 - \sigma_2 - \frac{3}{2}} (1-zt)^{-\sigma_1} K_{v+\frac{1}{2}}\left(\frac{p}{t(1-t)}\right) dt$$

$$(p, v \in \mathbb{R}_0^+, \Re(\sigma_3) > \Re(\sigma_2) > 0, |\arg(1-z)| < \pi)$$

and

$$(1.21) \quad \Phi_{p,v}(\sigma_2; \sigma_3; z) = \sqrt{\frac{2p}{\pi}} \frac{1}{B(\sigma_2, \sigma_3 - \sigma_2)}$$

$$\times \int_0^1 t^{\sigma_2 - \frac{3}{2}} (1-t)^{\sigma_3 - \sigma_2 - \frac{3}{2}} \exp(zt) K_{v+\frac{1}{2}}\left(\frac{p}{t(1-t)}\right) dt$$

$$(p, v \in \mathbb{R}_0^+, \Re(\sigma_3) > \Re(\sigma_2) > 0).$$

They also obtained the following transformation formula for the extended confluent hypergeometric function

$$(1.22) \quad \Phi_{p,v}(\sigma_2, \sigma_3; z) = e^z \Phi_{p,v}(\sigma_3 - \sigma_2; \sigma_3; -z).$$

Obviously, due to (1.17), equations (1.18)-(1.21) reduce, respectively, to (1.7)-(1.10).

Whittaker [11] introduced the so-called Whittaker function

$$(1.23) \quad M_{\lambda,\rho}(z) = z^{\rho+\frac{1}{2}} \exp\left(-\frac{z}{2}\right) \Phi\left(\rho - \lambda + \frac{1}{2}; 2\rho + 1; z\right) \\ \left(\Re(\rho) > -\frac{1}{2}, \Re(\rho \pm \lambda) > -\frac{1}{2}; z \in \mathbb{C} \setminus (-\infty, 0]\right),$$

where Φ is the confluent hypergeometric function in (1.3) and which is a modified solution of the Whittaker's equation so that formulas involving the solutions can be more symmetric (see, e.g., [12, Chapter XVI]; see also [10, p. 39]).

Nagar et al. [4] defined the following extended Whittaker function

$$(1.24) \quad M_{p,\lambda,\rho}(z) = z^{\rho+\frac{1}{2}} \exp\left(-\frac{z}{2}\right) \Phi_p\left(\rho - \lambda + \frac{1}{2}; 2\rho + 1; z\right) \\ \left(p \in \mathbb{R}_0^+; \Re(\rho) > -\frac{1}{2}; \Re(\rho \pm \lambda) > -\frac{1}{2}; z \in \mathbb{C} \setminus (-\infty, 0]\right),$$

where Φ_p is the extended confluent hypergeometric function in (1.8).

Rahman et al. [7] have introduced and investigated the following extended (p, q) -Whittaker function

$$(1.25) \quad M_{p,q,\lambda,\rho}(z) = z^{\rho+\frac{1}{2}} \exp\left(-\frac{z}{2}\right) \Phi_{p,q}\left(\rho - \lambda + \frac{1}{2}; 2\rho + 1; z\right) \\ \left(p, q \in \mathbb{R}_0^+; \Re(\rho) > -\frac{1}{2}; \Re(\rho \pm \lambda) > -\frac{1}{2}; z \in \mathbb{C} \setminus (-\infty, 0]\right),$$

where $\Phi_{p,q}$ is the extended (p, q) -confluent hypergeometric function in (1.13).

Here we introduce the following extended Whittaker function

$$(1.26) \quad M_{p,v,\lambda,\rho}(z) = z^{\rho+\frac{1}{2}} \exp\left(-\frac{z}{2}\right) \Phi_{p,v}\left(\rho - \lambda + \frac{1}{2}; 2\rho + 1; z\right) \\ \left(p, v \in \mathbb{R}_0^+; \Re(\rho) > -\frac{1}{2}; \Re(\rho \pm \lambda) > -\frac{1}{2}; z \in \mathbb{C} \setminus (-\infty, 0]\right),$$

where $\Phi_{p,v}$ is the extended confluent hypergeometric function in (1.19). Then we investigate certain formulas involving the extended Whittaker function (1.26) such as integral representations, a transformation formula, Mellin transform, and a differential formula. Some special cases of our results are also considered.

It is remarked in passing that $M_{p,0,\lambda,\rho}(z) = M_{p,\lambda,\rho}(z)$ in (1.24) and $M_{0,0,\lambda,\rho}(z) = M_{\lambda,\rho}(z)$ in (1.23); From (1.22), the extended (p, v) -Whittaker function (1.26) can also be expressed in the following form

$$(1.27) \quad M_{p,v,\lambda,\rho}(z) = z^{\rho+\frac{1}{2}} \exp\left(\frac{z}{2}\right) \Phi_{p,v}\left(\rho + \lambda + \frac{1}{2}; 2\rho + 1; -z\right).$$

2. Formulas involving the extended Whittaker function (1.26)

Here we establish certain formulas involving the extended Whittaker function (1.26) such as integral representations, a transformation formula, Mellin transform, and a differential formula. Some special cases of our results are also considered.

Theorem 1. *Let $p, v \in \mathbb{R}_0^+$, $\Re(\rho) > \Re(\rho \pm \lambda) > -\frac{1}{2}$, and $z \in \mathbb{C} \setminus (-\infty, 0]$. Also let $a, b \in \mathbb{R}$ with $b > a$. Then each of the following integral representations holds.*

$$(2.1) \quad M_{p,v,\lambda,\rho}(z) = \frac{z^{\rho+\frac{1}{2}} \exp(-\frac{z}{2}) \sqrt{2p}}{\sqrt{\pi} B(\rho - \lambda + \frac{1}{2}, \rho + \lambda + \frac{1}{2})} \\ \times \int_0^1 t^{\rho-\lambda-1} (1-t)^{\rho+\lambda-1} \exp(zt) K_{v+\frac{1}{2}}\left(\frac{p}{t(1-t)}\right) dt;$$

$$(2.2) \quad M_{p,v,\lambda,\rho}(z) = \frac{z^{\rho+\frac{1}{2}} \exp(\frac{z}{2}) \sqrt{2p}}{\sqrt{\pi} B(\rho - \lambda + \frac{1}{2}, \rho + \lambda + \frac{1}{2})} \\ \times \int_0^1 u^{\rho+\lambda-1} (1-u)^{\rho-\lambda-1} \exp(-zu) K_{v+\frac{1}{2}}\left(\frac{p}{u(1-u)}\right) du;$$

$$(2.3) \quad M_{p,v,\lambda,\rho}(z) = \frac{(b-a)^{-2\rho+1} z^{\rho+\frac{1}{2}} \exp(-\frac{z}{2}) \sqrt{2p}}{\sqrt{\pi} B(\rho - \lambda + \frac{1}{2}, \rho + \lambda + \frac{1}{2})} \\ \times \int_a^b (u-a)^{\rho-\lambda-1} (b-u)^{\rho+\lambda-1} \\ \times \exp\left(\frac{z(u-a)}{b-a}\right) K_{v+\frac{1}{2}}\left(\frac{p(b-a)^2}{(u-a)(b-u)}\right) du;$$

$$(2.4) \quad M_{p,v,\lambda,\rho}(z) = \frac{z^{\rho+\frac{1}{2}} \exp(-\frac{z}{2}) \sqrt{2p}}{\sqrt{\pi} B(\rho - \lambda + \frac{1}{2}, \rho + \lambda + \frac{1}{2})} \int_0^\infty u^{\rho-\lambda-1} (1+u)^{-2\rho} \\ \times \exp\left(\frac{zu}{1+u}\right) K_{v+\frac{1}{2}}\left(\frac{p(1+u)^2}{u}\right) du;$$

$$(2.5) \quad M_{p,v,\lambda,\rho}(z) = \frac{2^{-2\rho+1} z^{\rho+\frac{1}{2}} \sqrt{2p}}{\sqrt{\pi} B(\rho - \lambda + \frac{1}{2}, \rho + \lambda + \frac{1}{2})} \int_{-1}^1 (1+u)^{\rho-\lambda-1} (1-u)^{\rho+\lambda-1} \\ \times \exp\left(\frac{zu}{2}\right) K_{v+\frac{1}{2}}\left(\frac{4p}{(1+u)(1-u)}\right) du.$$

Proof. By using the integral representation (1.21) in the definition (1.26), we obtain (2.1). Now, by setting $t = 1 - u$, $t = \frac{u-a}{b-a}$, and $t = \frac{u}{1+u}$ in (2.1), we get (2.2), (2.3), and (2.4), respectively. Setting $a = -1$ and $b = 1$ in (2.3) yields (2.5). \square

Theorem 2. *The following transformation formula for the extended (p, v) -Whittaker function (1.26) holds.*

$$(2.6) \quad M_{p,v,\lambda,\rho}(-z) = (-1)^{\rho+\frac{1}{2}} M_{p,v,-\lambda,\rho}(z) \\ \left(p, v \in \mathbb{R}_0^+; \Re(\rho) > -\frac{1}{2}; \Re(\rho \pm \lambda) > -\frac{1}{2}; z \in \mathbb{C} \setminus \mathbb{R} \right).$$

Proof. Replacing z by $-z$ in (1.26) and using (1.27), we get the desired result. \square

Theorem 3. *The following Mellin transformation holds.*

$$(2.7) \quad \mathfrak{M}\{M_{p,v,\lambda,\rho}(z); p \rightarrow r\} \\ = \frac{z^{\rho+\frac{1}{2}} \exp(-\frac{z}{2}) 2^{r-1} \Gamma(\frac{r-v}{2}) \Gamma(\frac{r+v+1}{2}) B(\rho+r-\lambda+\frac{1}{2}, \rho+r+\lambda+\frac{1}{2})}{\sqrt{\pi} B(\rho-\lambda+\frac{1}{2}, \rho+\lambda+\frac{1}{2})} \\ \times \Phi\left(\rho+r-\lambda+\frac{1}{2}; 2\rho+2r+1; z\right) \\ \left(\Re(r-v) > 0, \Re(r+v) > -1, \Re(\rho+r \pm \lambda) > \frac{1}{2}, z \in \mathbb{C} \setminus (-\infty, 0] \right).$$

Proof. Using the integral representation in (2.1) and changing the order of integrations, we get

$$(2.8) \quad \mathfrak{M}\{M_{p,v,\lambda,\rho}(z); p \rightarrow r\} \\ := \int_0^\infty p^{r-1} M_{p,v,\lambda,\rho}(z) dp \\ = \frac{z^{\rho+\frac{1}{2}} \exp(-\frac{z}{2}) \sqrt{2}}{\sqrt{\pi} B(\rho-\lambda+\frac{1}{2}, \rho+\lambda+\frac{1}{2})} \int_0^1 t^{\rho-\lambda-1} (1-t)^{\rho+\lambda-1} e^{zt} \\ \times \left\{ \int_0^\infty p^{r-\frac{1}{2}} K_{v+\frac{1}{2}}\left(\frac{p}{t(1-t)}\right) dp \right\} dt.$$

Using a known integral formula involving K_v (see, e.g., [5, Entry 10.43.19]; see also [6]), we have

$$(2.9) \quad \int_0^\infty p^{r-\frac{1}{2}} K_{v+\frac{1}{2}}\left(\frac{p}{t(1-t)}\right) dp \\ = t^{r+\frac{1}{2}} (1-t)^{r+\frac{1}{2}} \int_0^\infty u^{r-\frac{1}{2}} K_{v+\frac{1}{2}}(u) du \\ = t^{r+\frac{1}{2}} (1-t)^{r+\frac{1}{2}} 2^{r-\frac{3}{2}} \Gamma\left(\frac{r-v}{2}\right) \Gamma\left(\frac{r+v+1}{2}\right) \\ (\Re(r-v) > 0, \Re(r+v) > -1).$$

Using (2.9) in (2.8), we obtain

$$(2.10) \quad \mathfrak{M}\{M_{p,v,\lambda,\rho}(z); p \rightarrow r\} = \frac{z^{\rho+\frac{1}{2}} \exp(-\frac{z}{2}) 2^{r-1} \Gamma(\frac{r-v}{2}) \Gamma(\frac{r+v+1}{2})}{\sqrt{\pi} B(\rho - \lambda + \frac{1}{2}, \rho + \lambda + \frac{1}{2})} \\ \times \int_0^1 t^{\rho+r-\lambda-\frac{1}{2}} (1-t)^{\rho+r+\lambda-\frac{1}{2}} e^{zt} dt.$$

Using (1.5), we find

$$(2.11) \quad \int_0^1 t^{\rho+r-\lambda-\frac{1}{2}} (1-t)^{\rho+r+\lambda-\frac{1}{2}} e^{zt} dt \\ = \frac{\Gamma(\rho+r-\lambda+\frac{1}{2}) \Gamma(\rho+r+\lambda+\frac{1}{2})}{\Gamma(2\rho+2r-1)} \Phi(\rho+r-\lambda+\frac{1}{2}; 2\rho+2r+1; z) \\ \left(\Re(\rho+r \pm \lambda) > \frac{1}{2} \right).$$

Applying (2.11) to (2.10), we obtain the desired result. \square

Theorem 4. Let $p, v \in \mathbb{R}_0^+$, $2\alpha > \mu$, $\Re(\delta + \rho) > -\frac{1}{2}$, and $\Re(\rho \pm \lambda) > -\frac{1}{2}$. Then

$$(2.12) \quad \int_0^\infty x^{\delta-1} e^{-\alpha x} M_{p,v,\lambda,\rho}(\mu x) dx = \Gamma\left(\delta + \rho + \frac{1}{2}\right) \mu^{\rho+\frac{1}{2}} \\ \times \left(\alpha + \frac{\mu}{2}\right)^{-\delta-\rho-\frac{1}{2}} F_{p,v}\left(\delta + \rho + \frac{1}{2}, \rho - \lambda + \frac{1}{2}; 2\rho + 1; \frac{2\mu}{2\alpha + \mu}\right).$$

Proof. Let \mathcal{L} be the left side of (2.12). Using the integral representation (2.1) and changing the order of integrations, which can be verified under the conditions here, we obtain

$$(2.13) \quad \mathcal{L} = \sqrt{\frac{2p}{\pi}} \frac{\mu^{\rho+\frac{1}{2}}}{B(\rho - \lambda + \frac{1}{2}, \rho + \lambda + \frac{1}{2})} \int_0^1 t^{\rho-\lambda-1} (1-t)^{\rho+\lambda-1} K_{v+\frac{1}{2}}\left(\frac{p}{t(1-t)}\right) \\ \times \left[\int_0^\infty x^{\delta+\rho-\frac{1}{2}} \exp\left\{-\left(\alpha + \frac{\mu}{2} - \mu t\right)x\right\} dx \right] dt.$$

Using the Euler's gamma function (see, e.g., [9, Section 1.1]), we get

$$(2.14) \quad \int_0^\infty u^{\alpha-1} \exp(-\beta u) du = \beta^{-\alpha} \Gamma(\alpha) \quad (\Re(\alpha) > 0, \beta \in \mathbb{R}^+).$$

Applying (2.14), we have

$$(2.15) \quad \int_0^\infty x^{\delta+\rho-\frac{1}{2}} \exp\left\{-\left(\alpha + \frac{\mu}{2} - \mu t\right)x\right\} dx \\ = \left(\alpha + \frac{\mu}{2} - \mu t\right)^{-(\delta+\rho+\frac{1}{2})} \Gamma\left(\delta + \rho + \frac{1}{2}\right) \\ \left(2\alpha > \mu, \Re(\delta + \rho) > -\frac{1}{2}\right).$$

Substituting the integral formula (2.15) for the inner integral (2.13) and using (1.20), we obtain the desired result. \square

Theorem 5. *Let $p, v \in \mathbb{R}_0^+$, $\Re(\rho) > -\frac{1}{2}$, $\Re(\rho \pm \lambda) > -\frac{1}{2}$, and $z \in \mathbb{C} \setminus (-\infty, 0]$. Also let $n \in \mathbb{N}_0$. Then*

$$(2.16) \quad \begin{aligned} & \frac{d^n}{dz^n} \left\{ e^{\frac{z}{2}} z^{-\rho-\frac{1}{2}} M_{p,v,\lambda,\rho}(z) \right\} \\ &= \frac{(\rho - \lambda + \frac{1}{2})_n}{(2\rho + 1)_n} e^{\frac{z}{2}} z^{-\rho-\frac{n}{2}-\frac{1}{2}} M_{p,v,\lambda+\frac{n}{2},\rho+\frac{n}{2}}(z). \end{aligned}$$

Proof. Applying the following known formula (see [6])

$$(2.17) \quad \frac{d^n}{dz^n} \left\{ \Phi_{p,v}(\sigma_2; \sigma_3; z) \right\} = \frac{(\sigma_2)_n}{(\sigma_3)_n} \Phi_{p,v}(\sigma_2 + n; \sigma_3 + n; z) \quad (n \in \mathbb{N}_0)$$

to (1.26), we obtain the desired result. \square

3. Special cases and remarks

The results presented here, being very general, can be specialized to yield a number of relatively simple identities. We demonstrate only two examples in the following corollaries.

Setting $v = 0$ in Theorem 3, in view of (1.17) and (1.23), we obtain:

Corollary 1. *Let $\Re(r) > 0$, $\Re(\rho + r \pm \lambda) > \frac{1}{2}$, and $z \in \mathbb{C} \setminus (-\infty, 0]$. Then*

$$(3.1) \quad \begin{aligned} & \mathfrak{M}\{M_{p,\lambda,\rho}(z); p \rightarrow r\} \\ &= \frac{z^{-r} \Gamma(r) B(\rho + r - \lambda + \frac{1}{2}, \rho + r + \lambda + \frac{1}{2})}{B(\rho - \lambda + \frac{1}{2}, \rho + \lambda + \frac{1}{2})} M_{\lambda,\rho+r}(z). \end{aligned}$$

Setting $v = 0$ and then $p = 0$ in the result in Theorem 4, we get:

Corollary 2. *Let $2\alpha > \mu$, $\Re(\delta + \rho) > -\frac{1}{2}$, and $\Re(\rho \pm \lambda) > -\frac{1}{2}$. Then*

$$(3.2) \quad \begin{aligned} & \int_0^\infty x^{\delta-1} e^{-\alpha x} M_{\lambda,\rho}(\mu x) dx = \Gamma\left(\delta + \rho + \frac{1}{2}\right) \mu^{\rho+\frac{1}{2}} \\ & \times \left(\alpha + \frac{\mu}{2}\right)^{-\delta-\rho-\frac{1}{2}} {}_2F_1\left(\delta + \rho + \frac{1}{2}, \rho - \lambda + \frac{1}{2}; 2\rho + 1; \frac{2\mu}{2\alpha + \mu}\right). \end{aligned}$$

The main results presented here when $(v = 0)$ and $(v = 0 \text{ and then } p = 0)$ are reduced to yield the corresponding results in [4] and the identities for the Whittaker function (see [12]), respectively.

Acknowledgements. The authors would like express their deep-felt thanks for the reviewer’s favorable and constructive comments. The first-named author was supported by Basic Science Research Program through the National Research Foundation of Korea (NRF) funded by the Ministry of Education (NRF-2020R111A1A01052440).

References

- [1] M. A. Chaudhry, A. Qadir, M. Rafique, and S. M. Zubair, *Extension of Euler's beta function*, J. Comput. Appl. Math. **78** (1997), no. 1, 19–32. [https://doi.org/10.1016/S0377-0427\(96\)00102-1](https://doi.org/10.1016/S0377-0427(96)00102-1)
- [2] M. A. Chaudhry, A. Qadir, H. M. Srivastava, and R. B. Paris, *Extended hypergeometric and confluent hypergeometric functions*, Appl. Math. Comput. **159** (2004), no. 2, 589–602. <https://doi.org/10.1016/j.amc.2003.09.017>
- [3] J. Choi, A. K. Rathie, and R. K. Parmar, *Extension of extended beta, hypergeometric and confluent hypergeometric functions*, Honam Math. J. **36** (2014), no. 2, 357–385. <https://doi.org/10.5831/HMJ.2014.36.2.357>
- [4] D. K. Nagar, R. A. M. Vásquez, and A. K. Gupta, *Properties of the extended Whittaker function*, Progr. Appl. Math. **6** (2013), no. 2, 70–80.
- [5] F. W. J. Olver, D. W. Lozier, R. F. Boisvert, and C. W. Clark, *NIST handbook of mathematical functions*, U.S. Department of Commerce, National Institute of Standards and Technology, Washington, DC, 2010.
- [6] R. K. Parmar, P. Chopra, and R. B. Paris, *On an extension of extended beta and hypergeometric functions*, J. Class. Anal. **11** (2017), no. 2, 91–106. <https://doi.org/10.7153/jca-2017-11-07>
- [7] G. Rahman, S. Mubeen, K. S. Nisar, and J. Choi, *(p, q)-Whittaker function and associated properties and formulas*, arXiv:1710.07196 [math.CA], 2017.
- [8] E. D. Rainville, *Special Functions*, The Macmillan Co., New York, 1960.
- [9] H. M. Srivastava and J. Choi, *Zeta and q-Zeta Functions and Associated Series and Integrals*, Elsevier, Inc., Amsterdam, 2012. <https://doi.org/10.1016/B978-0-12-385218-2.00001-3>
- [10] H. M. Srivastava and H. L. Manocha, *A Treatise on Generating Functions*, Ellis Horwood Series: Mathematics and its Applications, Ellis Horwood Ltd., Chichester, 1984.
- [11] E. T. Whittaker, *An expression of certain known functions as generalized hypergeometric functions*, Bull. Amer. Math. Soc. **10** (1903), no. 3, 125–134. <https://doi.org/10.1090/S0002-9904-1903-01077-5>
- [12] E. T. Whittaker and G. N. Watson, *A course of modern analysis. An introduction to the general theory of infinite processes and of analytic functions: with an account of the principal transcendental functions*, Fourth edition. Reprinted, Cambridge University Press, New York, 1962.

JUNESANG CHOI
 DEPARTMENT OF MATHEMATICS
 DONGGUK UNIVERSITY
 GYEONGJU 38066, KOREA
Email address: junesang@dongguk.ac.kr

KOTTAKKARAN SOOPPY NISAR
 DEPARTMENT OF MATHEMATICS
 COLLEGE OF ARTS AND SCIENCE-WADI ALDAWASER, 11991
 PRINCE SATTAM BIN ABDULAZIZ UNIVERSITY
 ALKHARJ, KINGDOM OF SAUDI ARABIA
Email address: n.soopy@psau.edu.sa; knsisar1@gmail.com

GAUHAR RAHMAN
 DEPARTMENT OF MATHEMATICS AND STATISTICS
 HAZARA UNIVERSITY
 MANSEHRA, KHYBER PAKHTUNKHWA 21120, PAKISTAN
Email address: gauhar55uom@gmail.com